T e ey R Sy S R PR

PPT— 20\ ¢

4033486

SET CODE @ PPLF[14  ShNor
Seal
ge :{; fl;pnznutendem (:7)} Wﬂ To be filled in by the Candidate by Ball-point Pen only.. E
Roll Number Si. No. of Answer-Sheet
3wy sk e s HEE I ;
Declagil ﬂn lm read-and understood the directions given below.

Signature of Invigilator : ......cccocovinrirreeiiniinnee, SignAture of CAnidate : . ........ooovvvvvvveveereressseressssesoo Date : ..coccevvveennenns
Name of INVIIAtor : w.coveeeueveeereneceeresesrevesenans Name of Candxdate ........................................................ Time: ..vieinienne.
‘Number of Pages in the Booklet—64 = Number of Questions—150

whanfiat & forg Bl 2. (%) MWIPEW-W HH8 1 FAT I AR 100w wpamw, v

| 1. &) whafid ¥ wfRea % f(Re Wo IMo) IW-T F
nﬁ&tﬂﬁm ﬂawomvﬁtmzloﬂwzmmﬁm
i -
mloh%mwﬁmﬁiﬁﬁmgﬁmtﬁmlm
Frwgen Faf N R
|-~ -w mg@mﬁwﬁmémgmﬁm%@élﬁm
§ Fra ) e it st et g -y iR Tt
(i) TR-IRE 5 78w v A dom i fem W e

(@)

maﬂm‘msﬁﬂmél )
(i) $E- ﬂaﬁwﬁ:am/mamﬁazﬁﬁm
™ §maﬁﬁa§mnp@mwﬁm?ﬁ1ﬁ%m

TR & A & R B A PR W R
ofe yudt = Rewer ), Wt Fwar aw-gfee wa dh o
Frlah AT TE-gfRm i S e F s we

- e wmom
(i) wer-giees # ste & gvo Pl w6y W i
MW-wﬁﬁﬁzmmmﬁwﬁqﬁmmk
. ball- mthﬁmmmﬁﬁn
(M A7 ¥ % 18 Rtz S feor # et-u § sw sifem

3R Ra smem

mﬁﬁaﬁﬂﬁﬂﬁ%nma&«ﬂ#%hsu&mm:

: TR S @ -G e el iR .8 e w |

- e v ey R T R il

7.

- (M) m—m%wzwxﬁ%mwﬁaﬁixmmﬂ

y Pt it woandt of sffdel w $ semn we T fdh

FR W W e R sifm w1 s e b w0 R
‘g KRS W e v e A A0 @ F
A F IR s rmE m R I wm O e
T @ aa R, AR vl s ¥ M sl s ad o i
) Black ball-point W & Teq w®N FF R ¢
IR-TA F Y8 2R FWT A o, I FE W yW-YRNE £
e R O § frd w-waf®a O W&-%-Black
ball-point ¥ ¥ wien w8t

(®)

im0 -gR 598 s g8 W Re g
(=) mﬂnﬁr&ufnuck _ball-point ¥ @ faey wrt 1
aﬁo@omowﬂam-waﬁmack banpomt?ﬁaﬁorha
R T Waree ¥R w2, @ vdafda ®
ﬁmmtﬁ:ém—w%p 19 2 w yRR A v Tm
T-70 wEur W@ @ w5 g T W

Tt ot 3w, - vergrden ¢ mww . FARGITNE
muvﬂummhmmuﬁatn

w %9 W TH-yfRm ¥ el 7l w mmﬁﬁ%m

9o o TRe Sk T e T Svdn ARk A1 o S g
IR W Yo momommﬁmmmﬁmﬁmﬁml

(m m%&w T

.,,’i;'vwmww%iﬂai)

*PBLT/ 14

8l-Me, 2 403346

INSTRUCTIONS TO CAl rmm:s

| 1. fa) Candidates are allowed 10 mum to fill w
information about themselves ifi thOftiwR |
{OMR} Answer-Sheet such as Name, Roll No., ete.
After, this 16 mifiutes, Question Booldet: ven to the
candidates. They are reqmred to do‘the’ follow?ﬁgg
i Examine the Question Booklet and see that all paper
seals at the edge of the Booklet are intact. DO NOT
accept the Quest:ongooldet if paper seals are notmtact
Tally tite number of pages along
' g\;gskliwni piinted: OB m@m@mbﬁ
et

the basic
k Reader

b

(i)

receiving the Question Booklet, after which m g

Queauon Booklet will be replaced nor will extra time be given.

iv)] After examining the Question Booklct please enter the
Settmd No.. of the:Questipn Bogkiet W
place in the Answer-Sheet and the eorreapon ng circles
be darkened with Black ball-point %D

Candidates are not permitted to “m ahswers in the’

Answer-Sheet in these 185 minutes 3 Ban more will be

given to mark the answers. ... -

o)

Check that the Question Booklet contams t,he quesﬁons .

f all ant sectiong/an and s X
» :’nme%vuan d-no re /mmm‘? sis i

12

. OMR th
hec mﬁmﬁ

oR - “m&megmmm
,;4 mwwmwwwwwwm

7.

ion, write ;
te of Exam. |
. Put your sxgnamre also On the lower half ;;;;txon of this
; i) most. n-capital |
R o e e o By, Weite siie ome
letter in e&h box [J. Below eaeh letter darken thh lack
T edrdeofbeaﬁngmktter Lo
me e Angiver-Shees, fill in your RdlmtSﬂCOde
Sl. No. of the Question Booklet, etc., bywntmgm the 1J an
below it by darkemng correapondmg
: Sbieet, Anwen;a

SF %ﬁm av;i"la‘:bm the |
g mwm ;

Mng the entries made in '
on Bages ¥ und'2of the | -

the ‘sandidatolmuat be ext!mely careful in

{a) On Pnge Jof uumsuee i wper
Name of Exam., Name of Exam. Centre and

of calculator, mebile phones or any other.
and log tables, etc., is strictly prohibited.

‘Rough  wrk showild b’ d6né o e Biknk pages provided aftér :
each Subject. Extra paper will not be supplied.

Use of Whitetiét'in the OMR Ariswer-Sficet is not alldwed: I case
if it is used, UFM case will be reg;stered ant candidaturs will be

Use of any type
electronic

( For instructions regarding mukia; the answors, plgue see the blck cover mc of

tlm Qneption Booklet )

/6-A




| PPLT/14 R
wft 150 Wt 3ifFa FE@ w1 A C3gw ' ftrmam 37 : 150
: Time for marking all 150 questions :- 3 hours : Maximum Marks : 150
e (NOTE)

1. @ Y- 1 e aun v o iR Pegen @ .L
This Question Paper’s description and division of questions are as follow_s : - :
- | fv & Fel % F9 qeqr - FATH

Section Subject SL No. of Questions Total ‘Question
31/A e / Mathematics 1 1-50 B 50
/B i ¥ / Physics ’ 51-100 50
"/C * TS / Chemistry  101-150 50
T (Total) 150
2. ms%wgf@mﬁga 150 ¥, Fi% 1 & 1som%qauﬁ$m 1 mw%ta‘ﬂmaﬁaﬁ%uaﬁimm
I W
This question booklet contains 150 questions numbered from, 1 to 150 and each question carries |
1-mark. All questions are compulsory. There is no negative marking. . ‘

3. = @as Ay yE A gem w e g6 9w qttﬂng'maﬁizm 1@ € w-yfee § wdl wafe avs /R

SR fen T R, F we wfdRmE € @ e g sifed %mmaﬁﬁ?ﬁ%m&aﬁaﬁaﬁmﬁmﬁﬁ
Tally the zmgmber of pages along with the number of gliestions printed on the cover page j&f the Question
Booklet. Also check that the Question Booklet contains the questions of all relevant sectons /subjects,

as required and stated above and no repetition or omission of questions is evident.

4. SrI-fR  Frl T A 3R T Y 3 e 15 P e-gfe @

If any discrepancy is found in the_’QueAsﬁon Booklet, the same can be replaced with. another correct
Question Booklet within first 15 mismtes

5. ‘mmmﬁ%mm-gfﬁm%aﬁngwaﬁmﬁ%ﬁaﬁmﬁ@mmﬁwﬁl 3o Wo 3TRo
m—namaﬁmﬁsqmmaﬁﬁzﬁmm%&ﬁaﬂtﬂ wauE 78§, s@: gt % IW
WEUTIYES M & Fad IR 9 7517 ¥ gl 0 ¥ wen = @ sifdra st

Before answering the questions, please read carefully the instructions pnnted on, the back cover page of
the Question Booklet and strictly follow them. There is no provision of erasing or changing of the'
answer marked in OMR Answer-Sheet by any other means, thereforé, mark your mnrets carefully
by blackening full bubbles by Black bali-point pen:only.

6. mwﬂmm%‘aﬁz& mmmmmm%mmm@mmmwmmaﬁh%l

Use of,any type of calculator, mobile phones .or any other electromc gadgets and log iables, etc., is
strictly prohibited. «

PPLT/14/6-A o 2




SECTION—A [ Wvs—s1
MATHEMATICS / i

1. The line segiﬁént%‘g joining the
centre of a circle to the middle
point of a chord (which is not
diameter) makes which of the
following angles with the chord?
(A) «£180°
(B) «£90°
(C) «£120°

(D) £30°

. Two circles are equal in area. If
“the “length of the chord at a
distance of 5 cm from the centre
of one circle is 10 em, then the
length of the chord at the same
distance from the centre of the
other circle will be

(A) S cm

B) 15 cm
(C) 10 cm
(D) 5V2 cm

o

. The léngth of a chord:in a circle
is 6 cm and its distance from
the centre is 4-cm, The radius of
the circle is

(A) 10 em -
B) 5 cm
(C) 6 cm

' (D) 4 cm’
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(A) £180°
(B) £90°

(C) £120°

(D) £30°
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4.

6.

The height of a circular arch:is

5m and breadth is 30m.

Without altering the radius of - -

the arch, its breadth is
increased by 18 m. Then ‘the
height of the arch will be
increased by

(A) 13 m

(B) 18 m

(C) 149 m

(D) 12 m

. The number of circles to be

drawn through three

collinear points is

norm-

(A) two only
(B) infinite

(C) one and only one

| (D) not even one

If in a circle, three equal chords
pass through a point, then that
point is

(A) the centre of the circle

(B) any point on circumference
(C) the middle point of a chord

(D) a point outside the circle
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7. In a circle, the-ratio -of 4wo
chords which are equidistant
from centre of the circle is

@ 1:2
B) 1:1
(€) 1:3
D) 2:1

8. In the following figure, O is the

centre of the circle and A, B,

" C are three points on its

circumference ;
' A

B €
£BAC is eqﬁal to

(A) ZBOC
(B) ZBOA
(C) ZCOA

@) 1zBoC

9. An angle inscribed in a
semicircle is

(A) acute angle .
(B) obtuse angle-
(C) right angle

(D). straight angle

PPLT/14/6-A

7. AR TR g A Q@ Had 3w F Fx @
TR g | &, @ T arngdt W
g @

A 1:2
®) 1:1
(€ 1:3
D) 2:1

8. fm R &, o= F=x & au 4,
;Bcv&fhm?ﬁ:ﬁ@i

(B) «BOA

(C) ZCOA

(D) 1zBOC
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(C) T
(D) g
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10. Which one of the following is a 10. fefifaa & ¥ -9 FuA ¥ 17
correct statement? N -

(A) {x:x+5=5}=0
(A) {x:x+5=5}=0¢

(B) {x:x+5=5}@ﬂg’aﬂq€i%

(B) {x:x+5=25} is not a set

(C) {x:x+5=5}=0 (C) {x:x+5=5}=0

(D) {x:x+5=5}={0} (D) {x:x+5=25}={0}
11. If A={l, {2, 3}, 5}, then which 11. 3R A={3, {2, 3}, 5}, @ Prfifaa |
of the following statements is T @ HH-TT HIA 7T 87
incorrect?
N (A) {2, 3}e A
(A) {2,31eA

(B) {2, 3e A (B) {2, 3}eA
> € .

(C) {31c A (C) {3}c A

D) {5}c A D) {S5}c A

12. Which one of the following is an 12. fefafga % @ A i

irrational number? e 17

(A) 0-14 | (A) 0-14

(B) 0-1416 (B) 0-1416

(C) 0-1416 (C) 0-171—16»

(D) 0-1014001400014 ... (D) 0-1014001400014...
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13. On 'rationalizing' *Ehe denomi-

14,

15.

nator,

1+2
3-242

7 +5V2
2

becomes

(A)

(B) 7-5v2

7 + 52
9

\®
(D) 7+ 5\/5 ‘

I |
x+y+z=9

and ,xy+yz:+>zxf=23

then. the value of -
(}x3 +y3 + 25 -3xy2)
is | B
(A) 108
(B) 207
(C) 669
(D) 729
If the -~multiplication of two
expressions is (x-—l)3 and their

HCF ‘s (x-1);- then their LCM
will be

(A) (x+1)
(B) (x-1)2
© (x-1°

D) (x-1*

PPLT/14/6-A
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14.

(A)

'3-2V2
B R

7 + 542
2

(B) 7-5V2

7 + 542
9

(D) 7+5v2

(€)

7fe

x+y+z¥9

A9 xy +yz+2zx=23

15.

AP +yd+22 -3xyzTMAm 2

(&) 108
(B) 207
(C) 669
(D) 729

uﬁiﬁmmm(x 1)¥ &k
ITHT AW GUNEEE (x ‘1)‘@ eh

| 39 T g B

(A) (x+1)
(B) (x-1)?
©) (x-1)3

(D) (x-1*
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16.

17.

18.

PPLT/14/6-A

For which .wvalue  of A,
simultaneous equations

x+2y =70 and 2x+ Ay =25

do not have any solution?

the

Aa) 2
B) 3
(©) 4

(D)

N

The age of the father is three
times that of his son. After 5
years, the double of the age of
the father will be five times that
of his son. The present ages of
the father and the son are

(A) 30 years, 10 years

(B) 36 years, 12 years

(C) 42 years, 14«y§;a_rs v

(D) 45 years, 15 years

A room is 16 m in length and
10 m in breadth. The number of

marble tiles‘o_f 2 m2 to cbver its
floor is

(A) 40
(B) 80
(C) 160

(D) 20

16. A & fow o & fom guq: aiE |

17.

18.

x+2y=70 AR 2x+Ay=25 F|
S T & qm?

(A) 2

(B)

[ ]

€) 4

(D)

@ &t arg o T R g kAR |
T R1 5 o = e ey g |
TR Mg F U Tk e B
sre | et of g Y dum oy #
(A) 30 =d, 10 a9
(B) 36 ¥, 12 a9
(C) 42 =d, 14 a9

(D) 45 ad, 15 a9

TF TG 16 o Trm R 10 Ho
Her 21 3% w7 F 2 o e F |
m%wwﬁaﬁmaﬁ

(A) 40
(B) 80
(C) 160

(D) 20




§ 19. Thearea of the rhonib yus, wheee

20.

21.

22.

parallel sides are 12 ©om and
16 cm. in .Jength and the
distance between ,them is 6 cm,
will be

(A) 84 sq cm

(B) 34 sq cm

(C) 192 sq cm

(D) 96 sq cm

A circular road runs round a
circular ground. If the difference
between the circumferences of
the outer circle and the inner
circle of this road is: 66 m,the

- width of the road is

(B) 105 m
(C) 77 m
(D) 84 m

Inside of a box is 50 cm long,
20 cm wide and 10 cm high. The
number of books of 100 cm?
volume each, w}:u,gh can be put
in it, is .

(A) 500

. (C) 1000 - '
(D} 200

The curved surface area of a
cylindrical pillar is 264 m and
its volume is 924m®3. The
height of the pillar is

(A) 4m ‘

(B) 5 m

(C}) 6 m

D). 7m ' e

PPLT/14/6-A
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(A) 84 af o o
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(D) 96 =t Wo o
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- 21,

.(A) 21 o
“(B) 105 o

(C) 77 Hto
(D) 84 o

TF T i @ 50 Fo Ho wwl,
20 Fo o e quT 10 Fo Hio H
21 3gH 100 ¥ Yo Ho & g i
et geash o0 walt, SRt W @

(A) 500

. (B} 100

(€)- 19100 i

(D) 200

.#Wm@ﬁﬂammm

264 @ Ho ¥ qW IEH I’

1924 7 Mo ¥ T A I9E R

(A) 4 o
(B) 5 #to
(C) 6 o
(D) 7 #o
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23.

24.

25.

The heights of two right-circular
cylindrical vessels are equal. If
the ratio of their radii of the
bases is 1:4, then the ratio of
their volumes is

(A) 1:4

B) 1:8

©) 1:16

(D) 1: 64

The radius of the base of a right-

circular conical tent.is 7 m and

its volume is 770 m3. Its height
will be

(A) 11 m

(B) 7m

€) 22 m

(D) 15m

If a cone is cut into two parts
by a horizontal plane: passing
through the midpoint of its axis,
then the ratio of the volumes of
the upper part and'the cone is
(A) 1:2

(B) 1:4

(C) 1:6

(D) 1:8

PPLT/14/6-A
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g §) af S omw H Beet d]
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A) 1:4
B) 1:8
(©) 1:16

(Df 1:64
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(B) 7 o
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(D) 15 #fo
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26. Three solid spherical beadssof
radii 3 cm, 4 cm.and 5 cm are
melted into a spherical bead. Its
radius is )

(A) 6 cm
(B). 12 cm
(C) 50 cm

(D) (50)3 cm

27. The radius of a sphere is V3 cm.
Its surface area is .

“ (A) 12n sq cm "

(B) 43 s;:l cm
(C) 6m sq em -

- (D) 243 sq cm

1,1—s%nx is equal to
1+sinx SR

(A)
(B)
(€)
(D)

28.

1-sinx
secx +tanx
secx—-tanx |

cos x —sin x
- 29,

C0S(90° + 6)sec(360° — §)tan(180° — 6)
sec(@ — 720°)sin(540° +-8)cot(6.— 90°)

is equal to
(A) O
B) 1
(C) -1
(D) 2

PPLT/14/6-A
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- 26, Tt 3 @o o, 4 Fo o qum
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B T el w1t H B=n anft

(A) 6 "o Hio
(B) 12 Qo o
(C) 50 ®o Hto

(D) (50)3 o o

T T it B V3 Fo Hio B 3w
gda SEhe g

(@A) 127 = o o

(B) 43 Fo Ho

(©) 6n oo

AB) 23 & &1 ®o Hto

27.

1-SINX o 2
1+sinx

28.

(a)

(B)

©
(D)

l-sinx
secx +tan x -
secx —tan x
Cos x —sin x
29, N S
~ c0s(90° + B)sec(360° ~ B)tan(180° - 6)
sec(d - 720°)sin(540° + 6) cot(6 — 90°)
R B
(A) O
(B) 1
(€ -1
(D) 2
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30.

31.

32.

If 7sin?0+3cos?08=4 and

0<06< g, then the value of tan 8

is ;
3

(A) J;
2

(B) J;
1

\&)

V3

1

N7

A helicopter, at an altitude of
1000 m, finds that two ships are
sailing towards it in the same
direction. @ The angles of
depression of the ships as
observed from the helicopter are

(D)

45° and 30°, respectively. The

distance between the two ships
is -

(A) 2732 m
B) 2162 m
(C) 2793 m
(D) None of the above

An observer standing 60 m
away from a building notices
that the angles of elevation of
the top and bottom of a flag-
staff on the building are 60° and
30°, respectively. The height of
the flagstaff is

(A) 6928 m

B) 712 m

(C) 723 m

(D) 7128 m

PPLT/14/6-A
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31.

32.
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2
(B) J;

1

©) 7
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(A) 2732 o

(B) 2162 o

(C) 279-3 o
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(A) 69-28 Hio
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§ 33. If the angle of elevation of the

34.

35,

sun chariges ‘from' 36°.t0 60°,
then the difference betweén the
lengths of shadows of a pole
15 m high, made at these two
positions, is B

(A) 75 m
(B) 15m
(C) 1043 m

(D) Jg

;,.A la;ddqr is put by the s1de of a

wall of a house. Its upper end
reaches a window of the house
at a height of 15 m from the
ground. If from a point of the
wall at height 75 m, a
horizontal line is drawn, then it
will divide the length of the
ladder in the ratio

A 1:2
(B) 1:+2
C) 1:1

(D). V2:1

In any triangle, the line segment
joining the middle points of two
sides is parallel to the th1rd side
and is its

(A) one-third
(B) two-third
(C) one-fourth |
(D) half

PPLT/14/6-A
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34.
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(8) 75 o
(B) 15 o
(C) 1043 #io
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(A) 1:2
(B) 1:42
€ 1:1

(D) V2:1

35.
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36.

37.

38.

In a triangle, a line divides s
two sides in the same ratio. In
every case, this will be

(A) half of the third side

(B) one-third of the third side
(C) parallel to the third side
(D) None of the above

In AABC, D is the middle point
of AB and DE is drawn parallel

to side BC which meets AC in E.
Then AE is equal to

(A)
(B) %AC
(C) ;}-Ac

(D) %AC

If in two triangles, the three
angles of one are separately
equal to the three angles of the
other triangle, then the two
triangles will always be

(A) congruent
(B) similar
(C) equal in area

(D) None of the above

PPLT/14/6-A
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36.

37.

38.

frelt B 8, © W@ Y weR A
gt e e # faik e
¥ grE & 7% Bt

(A) el e A ameft
(B) et sy h wep-foree
(C) radt ST % FHIRK
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(Aa) 1AC

(B %AC
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(D) %AC

aR 2 Byl #, o By % o S
W Byw & o B @ TE-9R

() watrm
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39 If in two triangles; thé&sides atre

RN

Pproportional, then:the triangles

with respect to each other will
be

(A) equiangular
(B) congruent
(C) equal in area

(D) of equal perimeter

If in two triangles, two angles of

. one are separately equal to the

. two angles of the gther, then the

two triangles will always be

(A) congruent N

~ (B) similar

(C) equal in area -

(D) None of the dbyove

. If in two.triangles, the sides of
_one are propertional to the sides

of the other, then. the triangles
will be

(A) of equal perimeter
(C) similar

(D) equal.in area

PPLT/14/6-A ' 15
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42.

43.

44,

If in two triangles, any afigle'of
one triangle is equal to an’angle
of the other, and the sides
forming these angles be
proportional, then the triangles
are

(A) isosceles
(B) similar
(C) congruent

(D) equilateral

A 'corrésﬁondence between two

triangles is given. If the
corresponding  sides - are
proportional, then the

correspondence is
(A) congruency
(B) dissimilarity
(C) similarity

(D) None of the above

If in a right-angled triangle, the
perpendicular is .drawn on the
hypotenuse from the vertex of
right angle, then the tnangles
formed on its two sides will be

(A) congruent to each other

(B) similar to each other

(C) One triangle is half in area
to the other

(D) None of the above

PPLT/14/6-A
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43.

7R fngel #, T W B W ogE |
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(B) THEq

(C) aafrran
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46. The triangle; whoseevery side is

46.

_47.

-2 cm more in length ithan the

sides of a givem: triangle, has
what relation with the given
triangle? '

(A) Similar

(B) Equiangular
€ Congruent
(D) None of the above

If in the corresponding heights
of ‘two triafigles, the ‘Tatio is
same as ‘in their two
corresponding sides, then the
triangles will be -

(A) right-angled .

(B) congruent

(C) _similar

(D) equilatera_l H

~The ratio of the areas of simil:

tnangles is same ‘as the ratio
between the squares on their

corresponding  sides.”  This
statement is T

(A) partially conﬁgc‘:é‘

(B) absolutely co;‘rect

(C) incorrect o

(D) fallacy

PPLT/14/6-A
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(©) watmm
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46. IR A Phsit it T It o9

47.
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(A) TuRIT
(B) wafmam

(C) wuw&y

(D) &HaTg
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(A) m&mmﬁm |
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48.

49,

The sides of a triangle-are 3 &,
4 cm and 5 cm, respectively.
The triangle is (best answer)

(A) right-angled triangle
(B) isosceles triangle
(C) acute-angled triangle

(D) obtuse-angled triangle

A side of a square is'5 cm. The
length' of its diagonal will be

(A) 25 cm
(B) 10 cm
(C) 5v2 cm

(D) 245 cm

If the radii of two "¢ircles are
equal, then they are

(A) similar
(B) concentric
(C) coincident

(D) congruent

PPLT/14/6-A
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(A) wwRIr gt
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. SECTION—B |/ ©g—3
PHYSICS | shfeer e

51. The sun produces large amount

52.

53.

“used to

of energy by

(A) nuclear ﬁsaion

(B) nuclear fusion

(C) bumingbcoal p;fesent in it

(D) chemical reaction inside it

Which one of the.following is
control the chain
reaction of nuclear fission in

. nuclear reactor?

(A) Silicon rod

(B) Cadmium rod-

(C) Uranium rod

(D) Thorium rod

To start a nuclear reaction in
nuclear fission

(A) an alpha particle is
bombarded

(B) carbon is _mixed with

uranium o

(C) a neutron is bombarded

(D) heavy water is used

PPLT/14/6-A 23
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(B) il doram
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54.

55.

56.

PPLT/14/6-A

If 2 ampere current flows for
S minutes, the amount of
charge crosses the cross- _section
of a conductor will be

(A) 10 coulomb
(B) 2:5 coulomb

(C) 150 coulomb

(D) 600 coulomb

A lens has focal léngth +20 cm.
Its power will be

(A). L d1optre
(B) 555 0 5 dloptre
©C) = dloptre

(D) 5 dioptre

Which one of the, following

methods is used for the
production of electricity without
any pollution?

(A) Coal electricity |

(B) Hydroelectricity

(C) Nuclear reactor

(D) A generator using diesel

24
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56.

‘54, 32 2 YR A fagg-vm 5 e @ F.

varied B, @ e = % gmey-
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(A) 10 FeiE
(B) 2-5 Faiw
(C) 150 F&i

(D) 600 F=TH
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57 ‘Which “one of th&“@llowmg is
called ‘red .planet’?

| (A) Jﬁpiter -
(B) Saturn
(C) Mars

(D) Uranus
Which of the following -planets

has maximum number of
moons?

58.
(A) Earth

(B) Jupiter

(C) Saturn @

(D) Mars

59. According to Hubble’s law, the

relative velocity of two stars

(A) is directly proportmnal o
o their separatibfy -

is inversely préportional to
 their separation

(B)

(C) is  directly. . proportional
to the square of their
separation

(D) is inversely roportional
to the square of their
separation = =

PPLT/14/6-A
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(A) wewfa
(B) wf¥
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D) |\ -
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(A) et
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60. For weather forecasting, whiéh

61

62.

one of the following types of
electromagnetic wave is used?

(A) X-rays
(B) UV-rays
(C) Infrared rays

(D) Radio waves

.- Which one of the folléwing is the

first communication satellite?
(A) Sputnik-I
(B) INSAT-IA
(C) INSAT-IIA

(D) IRS-IA

A satellite used for spying

. purpose is set in which one of

PPLT/14/6-A

the following? .
(A) Equatorial orbit
Polar orbit

(B)

(C) Orbit inclined at 23° from
~ equatorial plane

(D) None of the above
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68. A body is revolwing by -a 63. &t Ffow fisw at gweR

~-constant speed glong a gjrcular - g P TRy A e R ) el
path of fixed radjus. Here e

e

(A) average velogitg,_nifs constant (8) e %’TW '

(B) acceleration 1s éero (B) R A B

%

(C) no force is acting on the

body (C) % R I ot T 1 W@ B

SRR S SR SR R el

(D) “acceleration has constant .- (D) RO g AfEwn FRm R
magnitude St

64. TF 2 fho WMo qut TWU 4 o Wo F
dropped from the sar ; A B TH € v ¥ ay-w fiwwn
are drop rom the same roo A N q
simultaneously. The ratio of Rl RRINCA ﬁ E’Fﬁ El

time taken by them to reach the T W AR
ground will be - : .

64. A 2 kg block and a 4 kg block

A) 1: T BT R TR

B) 2:1 B 2:1
© 1:4 O 1:4
D) 1:1-7 : D) 1:1
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65

66.

A car staft§ from rest afd

" increases its velocityat constant

rate to 36 km/h in 30 sec. Its
acceleration will be

(A) 1-2 m/sec?
(B) 0:33 m/sec2

b

C) = m/ sec?

- D) ze;fo

A body starts from rest and
accelerated uniformly. The
graph’of its-displacement versus
time will be

(A) a stra1ght 11ne

‘ B) a qxrcle

Q) a parabﬁola;‘ o

67.

PPLT/14/6-A

(D) Not fixed

A train runs by: a constant
speed towards east. A person
sitting on a seat facing east
tosses a coin. Th‘e_coin‘;

(A) will fall behind him

(B) will fall before him

(C) will fall back into his hand

(D) None of the above

28
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68. One dyne force 'i§ eflial to * *
AP0t N #

(©) 105N

(Dy 107> N

69, Which - one “of ~the : following
- - stajements ds .true regard1ng
. third law, of quuon?

(A) Action and reaction are
o _Wequal opposite and act on
o ftwo dlffereht bOdlCS

(B) Actlon and reactlon are

ssicequal~in mdgnitude and in
the same direction but act
on two dlfferent bodles

(C) Actlon and . reactlon are
equal and opposite but act
on the samge: body .. -

(D) Nomné of the above

"#70: Which ‘one of the following
s&temnts 1s trae?

w ( ) balanced force may cause
Sy acceleratmn

T o ‘,Qc
7Y T

TEDOTVE 1‘ ;

(B) A balanced force may not
change the energy of a
system

€ A balanced force may
change the.shape of a body

(D) An unbala.nced force does
not cause acceleration

PPLT/14/6-A
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71.

72.

73 .

“distance r.
‘gravitation force to electrostatic

The acceleration due to gravity
is ‘

(A) maximum  at the centre of
the earth

(B) negative at the centre of
the earth t

(C) positive at the centre of
the earth

(D) zero at
the earth

the centre of

Two balls A and B of same mass

are rubbed together. A becomes

positively charged and B

negatively charged. As a result

of rubbing

(A) the mass of A increases
while the mass of B

- decreases’ _
(B) the mass of“A is equal to
_the mass of B
(C) the mass of A and the mass
" of B both decréase

(D) the mass of A decreases
wh11e .the mass of B
increases '

‘Two charged balls of masses

1 kg each have also 1 coulomb
charge on each of them. They
are separated by a fixed
The ratio of

force between them will be

(A) 02 x1071?

(B) 07 x10720

() 05 x10719

(D) 07 x1020

PPLT/14/6-A

71.

72.

R o 8é
(A) 9=t & Fex W A A @
(B) Tt F Hx T RIMHE B 8
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A) 0-2 <10719

(B) 07 ><10'2°

(©) o5 ><10"19 )

(D), 0:7 x1020




‘74,

A

78.

@A)

76.

‘When work dorie ischegative

the kinetic' ‘énergy of the
* body: will surtly. deerease

the kineticrenergy of the
body will surely increase

(B)

(€

(D) None of the above

Which of the folowing is not the
unit of energy?

watt-sec
(B) N-m
(€

watt per second

(D) calorie

A 2 HP water pump runs fgr
10 minutes.  The electnca.l

energy consumed by it is

{A) 8952.x 10° J

(B) 8952 x 104

(C) 8952 x 10* J

(D) 8952 x107J.

PPLT/14/6-A

Work done is never negative
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77.

A boy starts pushing a rickshaw
of mass 120 kg initially at rest.
The  rickshaw. is moving now
with a speed of 18 km/h. How
much work has been done by
the boy? Avoid the effect of
friction.

(A) 2500 J

(B) 2000 J'

() 1500 J

78.

(D) 1000 J

Sound wave in air is

(A) a transverse wave . .

(B) a longitudinal wave

(C) an elecuomagne;ic wave

(D) None of the above

79."In the propagation of a wave

PPLT/14/6-A

(A) dnly

momentum is

transferred '

(B) only kinetic energy is
transferred

(C) both momentum and
kinetic energy are
transferred

(D) None of the two travels

through the medium
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80. The speed of - smﬂmmn air £8 so.bsan;é Wﬁ $ ﬂﬁ

(A) decreases by increasing (A) 31'&‘3! T2 ¥ Tt 2
humidity ‘

(B) increase‘sﬁ | by inc‘;;easing (B) el W’ﬁ C w5t ®
humidity

(C) W T=ar F HIE IWET T g2 B
(C) is independen’cf'oi' humidity RN

o (D) WA TG QU R
(D) decreases. by 1nc;;e'asing

temperature " : " S
81. W a1 1 WH B B
81. The nature of light, wave is

(A) Irgeed

(A) longitudinal
B g

Y

" (B) ‘transverse < v BT e

e 6

| (C)’ both + &ongmiﬁinals and (C) aﬁﬁﬁf :’rﬁ”{ WW ?«;ﬁ'l
transverse 1., : e

(D) Wﬂ?ﬁﬁﬁﬂﬁiﬂﬁ

(D) None of the above

o 82. ¥ & ®iw & wwddiE 15 X wia
82. The refractive index of glass ST ) TR e

with respect to air is 1'5. The
speed of light in glass will be

L 1 (A) 2 x 108 tﬁO,@ﬁ; |
(A) 2x108 m/sec '

(B) 3 x 108 o /@0
(B) - 3x108 m/sec :

(C) 1-33 x 108 m/sec (©) 1-33 x 108 o /R0
(D) 45 x lﬁs m/sec ' (D) 45 x 108"1116}%0'
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83. 240 waves are completed 4n

16 sec. The frequency of the
wave is

(A) 3840 Hz
(B) 256 Hz
(C) 224 Hz

(D) 15 Hz

'84. A man cannot see the object

clearly if object distance is less
than 40 cm. He should use the
spectacle of glass having focal
length

®

(&)

B) +290 .
3
+200 cm
o) -100
3

RPLT/14/6-A
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(A) 3840325?_
(B) 256 &5

(0) 224 R
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TR

85.-A white ray passes through.a

prism as shown in the following
figure. X and Y are the limiting
rays. )

" 'Here

86.

PPLT/14/6-A

- {A)- X is red and ¥ is violet

(B) ,X is ﬁolet and fis red

(C) Xis gréeh and/ Y isi‘ﬂyello»w
(D) X 1s .yellvf):w and »Y 1s green
By a defectivé eyé; the image of
an object is formed behind the

retina. ‘To rectify the defect, he
must use

(A): & convex lens. of suitable

" (B) a concave lens of suitable

focal length

(C) a bifocal lens of suitable
focal length

(D) None of the above

. 88.
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88.

The image ~ forméd By &n
* objective lens of a t"elesccbpe is

(A) at the focus of objectlve but

not at the focus of eyepiece

(B) at the focus of eyepiece but
~not at the focus of objective

(C) at the focus of objective as
well as at the focus of
eyepiece ’

(D) neither at the focus of
objective nor at the focus of
eyepiece

The iniage formed by a
compound rmcroscope is

(A) virtual and erect
(B) real and erect -

(C) real and inverted

D i?irtua.l and {?fivérted

89.
~ objective Tens and eyepiece lens

The magmfymg powers of

of a compound microscope are

10 and 20 respectlvely Its
" résultant -

" maghnifying

power
will be

@) 30

B 2

(C) 10

(D) 200 ©
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90. A convex lens-of fééal length
5 cm is used as ‘simple
microscope to see the clear
image at the minirsam distance
of distinct vision, i.e., at 25 cm.

Its magnifying pow_gr will be
(A) :5

By 6 o

© 125

(D) 30

i

When an ice cube melts, the
volume of water''*

91.

S

(A) is less than the volume of
v - theice eube . .. . =

(B) ‘1s greaten th% the volume

of the ice ‘cube

(C) is equal to the volume of the

ice cube

(D) None of the above -
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92.

93.

924.

PPLT/14/6-A

When heat is given to an-rige
cube, its -temperature -

“(A) ﬁrstly 1ncreases and then

becomes constant

(B) firstly decreases and then
- becomes constant
(C) firstly remains constant
and thereafter increases
(D) firstly remains constant
and thereafter decreases
A wire of resistance 20 Q is

stretched to double its original
length. Its resistance will
become

(A) 40 Q

(B) 20 Q

(C) 10 Q

(D) 80 Q

Two electric heaters A and B are
marked as (500 W, 220 V) and
(1000 W, 220 V) respectively.
The ratio of resistances of A and
B will be o

@A) 1:2

B) 2:1

C) 1:4

(D) 4:1
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93.

94.

sn?n%

(B)qaém%aﬂxﬁ{f@ﬂs’t
Sl

() wea FRR B & 3 fR s @
(D) wea fRr T & afk fm v @
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g e wnd ft AR W D
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(A) 40 3Tm

(B) 20 ™

© 109w .

(D) 80 3w

ﬁﬁg?ﬁﬂ'é’rz&Aaﬂthm

sifpa & (500 @r, 220 qwR) wW |
(1oooare 2203h1)|AaﬂzBas |
‘~'-‘xxﬁ1i’ttﬁmm§¢mﬁm ‘

(A) 1:2
@y 2:1: - T
C) 1:4
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95.

96.

97.

2 Q and 4 Q resistors are joified
in parallel across a 6 volt

 battery. The ratio. of voltages

across them will ' be:

A 1:1

(B) 1:2

€ 2:1
D) 4:1

Volt per ampere is;' ‘yia‘ls’o calledk
(A) ohm-metre (@-m)

(B) joule

(C) ohm (Q)

(D). mho

In a dry cell, the negative

electrode is made of which one

of the' followmg?
(A) Copper
(B) Brass
(C) Carbon

(D) Zinc

WPrLT/14/6-A
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96.

97.
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(A) 1:1
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98'

99.

100.

An -electric. motor; is a devige

wlj;ich converts

(A) electrical

energy into
mechanical energy
(B) mechanical energy into
electrical energy
(C) . chemical energy . into

mechanical energy

(D) None of the above

In which of the folloﬁhg cases,
electric current will be

. produced?

(A) A magnet is brought near a
conducting  levp along its
axis

(B) A coil is rotated in a
magnetic field

(C) A loop of conductmg\mre is
introduced perpendicularly
in a magnetic field

(D) All of the above

The magnetic effect of electric

current was first discovered by a

scientist, whose name ig

(A) Oersted

(B) Maxwell

(C) Weber

(D) Newton

PPLT/14/6-A
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101. The most

102.

103.

'CHEMISTRY | tar=¢a

impostant - human
activity leading to the extinction
of wildlife is 7

{A) pollution of wildlife

(B) hunting of valuable wildlife
products

(C) introduction of alien species

(D) alternation and destruction
of the natural habitats

Carbon monoxide is a pollutant
because

(A) it reacts with O,

(B) it inhibits glycolysis

(C) it makes mnervous system
active

(D) .it reacts. with ‘haemoglobin
of blood

Air pollutant gases causing acid
rain are

(A) COy and:Tl, 7

(C) SO, and NO,

' (D) CFC and CO,

PPLT/14/6-A
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104. The

largest  portionr  of
atmospheric gases by weight is

(A) oxygen

105.

106.

The

)

(B) nitrogen .
(C) ozone

(D)‘ argon

Smog is
(A) a natural phenomenon

(B) a combination of smoke
-and fog

(C) colourless

(D) All of the above

true statement about
greenhouse effect is that it is

caused by combihation of
many gases
(B) caused by CO,.

caused only by CO,, CFC
and NO, gases

€

(D) None of thé above

PPLT/14/6-A
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105.
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107. Two- neighbours:of homologous
- series differ by . . -

(A) —CH
(B) —CH,
(C) —CHj,

(D) —CH,

108. The general formwlasof alkyne is
(A) CnHZn+2

(B)CnHzn .
(C) CﬁHQ},:g T

(D) CoH,

109. The completer cambustion of

hydrocarbon gives
(A) CO+H,0
(B) CO, + H2® G
(C) CO+H,

. (D) COg+Hy..

110. The major constituent of LPG is

(A) ethene
(B) butane
(C) propane

(D) pentane
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107. ammmaﬁmm
(A) —-CHm
(B) —CHj, 1
(C) —CHz 3™ -

(D) —CH, g

108. ToHE W UM GI AL
A Coltan
B CHy
(C) CpHopop v

(D) C,H, ..

109. FTEFIE % OO <& & YW € &
(A) CO+H,0" |
(B) COp +HoO sutni -
(C) CO +H, ”

il {(‘D) 002 +H2 »;‘.I et

110. reﬁiﬂuamug@m%
(A) o=
(B) =g
(C) woe
(D) =+
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111. A subatomic particl€, which hds

1 12.

113.

one unit mass and one unit
positive charge, is known as

(A) hydrogen atom

(B) neutron -

(C) electron

(D) proton

Two elements A and B have the
same atomic mass but their
atomic numbers are 18 and 19
respectively. A and B are

(A) isotones

(B) isomers

© isoi)ars__* D

(D) isotopes

The electronic coglﬁéurétion of
an atom is 2, 8, 1-The number

of valence electrons in the
atom is

(A) 8
(B) 2
©) 1

(D) 10

PPLT/14/6-A
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114. When an electron dibps from a

115.

- B)

116.

high energy level to a low energy
level, then

(A) energy is absorbed
~ (B) energy is released

' (C) nuclear chdrge increases

(D) \guiclea;( charge deereases
The f}oiume V of <;ne mole of
OXygen gas is

(A) 1 litre of oxygen at STP

32 litres oLoxg(gen at STP
(C) 224 litres of oxygen at STP

D) 6-02. ><41023 @olecules of
oxygen at any temperature

and. pressure

‘When a chemical bond between
twg atoms .

is formed, the
potential energy of, @e system
(A) decreases
(B) increases . . :... ;.
(€) remains{samex

(D) cannot be predicted

PPLT/14/6-A

4

49

114, 99 0% @R IH F9 WK q FH

&S wR R S &, |

(A) mfmﬁ&aaw%

@) AR

115

116.

(C) R s W e @

(D) TR ST W 3

. Stfeeiom A % o v ) w3

_(A) STP R ATHISH 1 1 #fiex

(B) STP W sifwdtom 1 32 o

(C) STP W ATRfSH #1 22-4 FiX

(D) frelt oft @9 aw TE W

602 x10%2 sfefeE ¥ ety

S @ yomRl % dfN ww taeie
oY H TS TR S R, @ oy
f@zﬁm(ﬁ%ﬁr&r&r)mﬁ

(4) a:q's’rm?n%

(B). 93 Sl ®

"(»C) 9 = Iz?ﬁ ?

" (D) - 1 Q@AW & R S wehl

[P.T.O.




117. lonic compounds are generally

(A) solids having h1gh melting
points and good conductors
of electricity:

(B) gases having low melting
points and poor conductors

of electricity

solids hav}iné low melting
~ points and good conductors
"of electricity

(€)

(D) solids having high melting
- points and bad conductors

" of electricity

118. A covalent bond is formed by
.+ (A) . complete . g;g;isfer of
" electrons o
- {B) sharing = of  electrons
contributed by both the
~ atoms
- (C) gharing- . of electrons

contributed by one atom
only

" [DJ None of the above -
Which type of ‘teaction takes
place when an iron nail is
dipped in a selution of copper
sulphate?

119.

(A) Combination reaction
(B) Displacement reaction
(C) Substitution reaction

(D} Decomposition reaction
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120. CaO and CO, &re produced. by
heating CaCOj3. ‘What . is the

type of the reactlon and the
process? o

(A) Displacement reaction and
endothermic process.

(B) Decomposition reaction and
exotherr_nifg process -

(C) Decomposition reaction and
endothermic process

(D) Combination reaction and
endothermic process

121. A catalyst will affect the rate of

forward reaction by changing

which of the following?
(A) Activation engrg}i

(B) Heat of reaction

(C) Heat of formation |
(D) Potential | energy of the
products
122. Chemical equilibrium establishes
if a reaction takes place in

(A) a closed system
(B) an open, system
(C) gaseous state

(D) liquid state

PPLT/14/6-A
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(A) ufwo ot
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(C) wsﬁm
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123'

124.

125.

126.

In any ‘electrochemical cell, the
cathode is always

(A) a non-metal

(B) attached to a battery

(C) the electrode at which some

gains electrons

the electrode at which some
loses electrons

(D)

Rust is a mixturé of

(A) FeO .and Fe(OH)3

(B) FeO and Fe(OH)q

(C) FesO3 and Fe(OH)3

(D) Fe304 and Fe(OH)3

When lead (Pb) storage battery
discharges

(A) SOy is evolvéd

(B) PbSO4 is consumed

(C) lead is formed

(D) HpSO4 is consumed

In Leclanche dry éell, anode is
(A) graphife fod

(B) FeO and Fe(OH),

(C) zinc container

(D) MnO5 + carbon

PPLT/14/6-A
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124.

128.

126.
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(A) FeO a1 Fe(OH)3 |

(B) FeO a1 Fe(OH), F

(C) FegO3 T Fe(OH)3 %
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127.

129.

The products. foﬁnéd’ﬁ'bm “Fhe
electrolysis of aqueous® silver
sulphate are

(A) silver metal and sulphate

(B) hydrogen and oxygen
(C) hydrogen a.nd sulphur

(D) sﬂver metal and oxygen

Select the mcorgeet statement
about the chermcal rea.ctmty at
electrodes dunng electrolys1s

(A) Anionsé give up electrons

(B) Cations take up electrons

Oxidation occrurs at the
anode

©

(D) Proton.,;;ttgn'sjg’ef-:;occurs in

the reaction

With rise in temperature, the

~conductance of a. solution oi an

electrolyte generally
(A) decreases s el

(C) remains constant

(D) None of the above -
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130. Which of the following is not a 130, Fmfafed & & F-W TH GRS
good conductor? ‘ T R
|
J
|

(A) Cu meta} | ) EFTTR -

. , o ‘
(B) NaCl} (aqg) - (B) fﬁ 5 (wiet) f
(C) NaCl (molten)
(C) aﬁ%m a@rrs‘s' (ﬁrswn gan) |
(D) NaCl (s)
. | (D) ;hﬁam ae«huss (aﬁn)
. 131. Which of the following | | |
. statements is not a correct 131, sy & and 3 aaﬁ - m

statement about the trends

when going from left to right | mftn‘ﬁ L ﬁr‘%ﬁﬁ %ﬂ'-‘ﬁﬁ@ -]
across the penods of periodic | Wyaﬁaﬁﬁwqﬁﬁ? .
table? :

A) T yHfa § eu uifck S
(A) The elements become less ‘\iﬂﬁ%
" metallic in nature

®) aa‘m‘r S @ den gl

(B) The number of valence

electrons increases : St @

(C) The atoms lose their (C) vy AP :ﬂTET-'ﬁ ki Wﬁl
electrons more easily L AT E

(D) ’:32 icox1des become more (D) srEe i sty B s &

132. Which scientist gave the law of 132. ‘¥EF H W’ forer gt 2 fean?

octaves’ ?

(A) Mendeleev a) Feha
(B) Newlands (B) =@
(C) Dalton ©) s
(D) Débereiner = ’ D) SR
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133. Mendeleev’s periodics table is

¥
;
i l34a
i d
i
i

135.

based on
(A) atomic weig ht
(B) atomic number
(C) atomic radius

(D) atomic volume:

As we move from left to qght

in a period in modem penodlcv

table, atomic sizes of the

elements generally
(A) increase
(B) decrease
(C) remain sarﬁe |

(D) become zero

Which of the following is not a
fossil fuel?

(A) Biomass

(B) Coal

(C) Natural gas

(D) Petroleum

. A good fuel possesses -

(A) low moisture content

(B) moderate 1gmt10n
“temperature

(C) high calorific value
(D) All of the above
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137. An example of secondary fuel is

. 138.

139.

140.

(A) coal
(B) coal gas
(C) crude petroleum

(D) natural gas

Combustion of fuel involves the
chemical reaction between fuel
and

(A) hydrogen

(B) water

(C) oxygen

(D) nitrogen

Fat-soluble vitamins are
(A) vitamins B, A

(B) vitamins A, D, E, K
(C) vitamins A, B, C, D

(D) vitamins B, C.

‘Sugar-related disease is

(A) jaundice
(B) diabetes
(C) typhoid -

(D) hysteria -
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141. Which vitamin is'responsibw for 141, & F1 qm W ﬁ aﬁ-r-m ferfem

blood clotting? -~ = . R 27

(A) Vitamin E | | A) FefmE
(B) Vitamin B; (B) friftm B,
(C) Vitamin C = . ©€) fefm C

(D) Vitamin K | (D) Rrafm K

142, lodine is essential for the
prevention of which disease?

142, W fFe find @ @ %@ ¥ R

I B7
(A) Goiter
| (a)
(B) ‘Muscle weakness ... - ’
o , (B) wmsR Aigosh
(C) Diarrhoea
(C) &=
(D) Osteoporosis
(D) et =1 A
143. Which of the following gives
maximum energy in metabolic 143. Frafafga & 4 H-m wwmeg |
process? | wisean & Fad ot St e e 7
(A) Protein (A) W
(C) Lipid ©)
(D) Cérbohydratc T N v (D) Fetemde
| B SRR
o =t 27
(A) Combustion through forest .
fires E— (A) ST % I R T
(B) Animals breathing (B) SRl g1 & A
(C) Using fossil fuels (C) Shared a7 %1 Iy
(D) Rotting of leaves - (D) wfwEl 1 W
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145.

Which family of plants usuadily
fixes nitrogen?

(A) Coniferous tree
(B) Seagrass

(C) Legume

" (D) Wheat

146.

147.

The process of conversion of
NO3 to N, present in soil is

known as

(A) nitrification

"~ (B} ammonification™

(C) denitrification

(D) nitrogen fixation

What is the source of energy for
all parts of the water cycle?

(A) Wind
(B) Ocean
(C) Soil

(D) The sun

PPLT/14/6-A
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145.

146.

147.

Gt S RER STEAR T AEEeE |

@) K

ol FT 8, T8 8
(A) vigad U3
(B) |gst =™

(C) &t

ﬁ@ﬁtﬂ@l‘dNO:;WNz ﬁm
1 Sfea 1 FE A &

(A) T

se-% % @t et & fore ot am‘
| T 27 |

(A) @
(B) We™Er
©) Fe

(D) =




1@ 149.

W1s0.

148. The pyramid ‘of enetgy in an

ecosystem

(A) is always upright

(B) may be upright or inverted
(C) is always inverted

(D) None of the above

In an ecosystem, which one of
the following shows one-way

~ passage?

(A) Free energy
(B) Carbon
(C) Nitrogen

(D) Potassium

In food chain,
bacteria are

fungi apd

(A) producers
(B) first consumers
(C) second consumers

('D) decomposers

gPrLT/14/6-A

148.

149.

o R G & 3w R

(A) ®eF dw S B

~(B) Hn =1 3e B Hear B

’(C) wea I BT ®

(D) 3w & | $E T

gitfefaes @7 4 foraet yag w fem
T Bar 87

(A) TH I
(B) @A
(C) A

(D) WeREm

150. G JEen § was R i ga §

(A) IeEH
(B) W IuNIRHI
(C) fiia Imirent

(D) U

“ [PT.O.
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 “INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

( ¥4 Black ball-point 99 T WANT &t )

1. I 2 & @7 :

IW ] & Y Faan 3ito Wo ARo IW-uF &
gafg & s Ry g e Wt & @
| A T T B G HI R

2. ToATeRT gla :

TOF I F 91 s IR §, I A Fad
TH W G& B g o aE TR ifra FA @
T IfF T BT AR U @ S NS s
fFu o &, 9 38 W wmem 5 ofamef ®
Y W E I AR € R R I I I
e R wmd )

3. IW * (AT HET qT IS

IR Tee M Fea F+ & e w1 FiA-uige
[ A W Y NR % P R geern anE T@
B 3@ Mo TWo Mo IW-UA ¥ IW H
M X F I T8 I F T WAIEIgEE
£yl

4, IW-9F Harw H GiaT

() dEF F INR-TF WR F W F
ghtm = & 6 sw-wa & ot gidat
N T, A TR, TR, TH-gRE
w1 FAE e Faife = w dw-3F
W T §

Tign & IWr wdtemefi Wt wwA-
gfemr Ut g & WA @ g
2 |

(@)

5. IW-UT & IQIIT 7 QYT ;

IW-F H T A G99 G W § @y
T T FA, AT AT GG YA ¥ @A |
B 2 @ W SA-1EE U @ N FHen @
W Araur A w5 W SR - H
3 w7 e '

H

1.

( Please use Black ball-point pen )

Method of Marking Answers :

To answer a question, please darken only
one bubble out of the given four, in the
OMR Answer-Sheet against that question.

. Valuation Procedure :

There are four alternative answers to a
question, only one of them is correct. One [§
mark will be awarded for each correct j§
answer. If more than one bubble are
darkened for a question, it will be |}
presumed that the candidate does not know |
the correct answer, hence, no mark shall be §
awarded. :

Cancellation or Change in Answer :

It will not be possible to change the
marked bubble with Black ball-point pen.
Therefore, correct answer should be
carefully chosen before marking it on the
OMR Answer-Sheet.

. Handing over of the Answer-Sheet to the ‘

Invigilator :

(i) Please ensure that all entries in the §
Answer-Sheet are filled up properly,
i.e., Name, Roll No., Signature, §
Question Booklet No., etc., before
handing over to the Invigilator.

(i) CANDIDATES ARE PERMITTED TO }
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE }
EXAMINATION.

. Care in Handling the AnswerSheet :

While using the Answer-Sheet, adequate §
care should be taken. Do not tear or spoilﬂg
the Answer-Sheet by folding or wrinkling.
The impression of the circle made by Black }
ball-point pen should not come behind the
Answer-Sheet.
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